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GE2-COMMERCE

INDIAN ECONOMY

Time Allotted: 2 Hours Full Marks: 60

1. (a)

(b)
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The figures in the margin indicate full marks.

GROUP-A / fq@i%-F / 9F1-

Answer any fwo questions 12x2 =24
foregl 3 o a1 IR SRTY

- 717 &rad Ted e
1 geacl Ul IR ol

What are the primary objectives of Public Distribution System (PDS) in India? 6+6
TR H S fIaRor raer (PDS) & UTIfid 39T =T § 2

IS IS 5 JIE I Tl F1F o

TRTHT AT fIaRor gorefia! (PDS) (Public Distribution System) HTIfids 389

BE?

What are the flaws in Food Security System in India?

IR H e YREM T § AT F1-a1 & 2

SIS 7 TR A e R R o

HRTHT TTERGRET YOI 1T & e o ?

Discuss the measures taken by the Govt. of India to protect and promote small 6+6
scale industries.

7Y TR IR & JRaM AR P & ol IRT WBR GRT foRd T ea=e13AT bl
ool HIFT |

SIS FIFIER FU e 1 8 Tarfion &y 921 BT SICEb] 41

AT ITNTEDDT Y& ?Hch’ﬂ TﬁWWWGWHSWQN ®eTthel X |

Critically discuss the land reform measures taken by the Govt. of India. 12
IR TRBR GRT A FER DI bR forl T AT T i HifTg |

SIS GRPRFICEE T 9RS T[T SCTD 1

R ARPReT foTuep! A JER SURIEHD e T T8I |
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4. What is privatization? How far is it justified in Indian Economy? 3+9

IRDRIDRT AT & ? HRAT 37ef G § G¥ febe ORE A Hedifehel R el & ?

R F 9 SRS SLNOTe (@RI Fob] IETHe SNl T4
fASTROT (Privatization) & &1 ? TR 31fd=MHT AT HRIDT SIRINT © 2

GROUP-B / Teta-2 / wrr-g

5. Answer any four questions: 6x4 =24
forgl IR T4l & IR RTY
Q-G 5IFf5 20ad Ted nies
P ARACT T&h! ITR A:

(a) What are the causes of inflation in India? 6
IR H JERTINT & DIF-DH H DR & ?
A0S JYIFIo S $1 o
YRIHAT Wﬁ?ﬁr (inflation) BRI & & ?

(b) Explain the need of foreign capital in India. 6
IR H faelt dSit &t sraegadrail T @ifdd HIf |
SIS SYNOTS (IR T AT i |
ARTHT el gSfiepT STaeaend RAT R |

(c) What are three advantages and three disadvantages of Multi National Company? 6
TERTSEIT HFT & A el 3R o 81T ot forRy |

i 7B foaf AR ¢ foal e 1 e
IR BT (Multi National Company) i1+ tISeT ¥ I+ SHIGET b b & 2

(d) What are the factors responsible for mounting crisis in Balance of Payment 6
(BOP) of India in recent years?

I T ¥ YR &T Balance of Payment ¥ dgd Adhe & foTq i AT 7o RFER & 2
I ©I90® Balance of Payment-9 R e T el ?
EICTepT JYEHHT HRTTP! JehTI ArferTHT Gal Hebeel AT RTFHER HRUEH &b & |

(e) Discuss any two structural weakness of Indian economy. 6
TRART TSGR & S TRTFTHED BRI TR fIoR HRTg |
wleed SR 16 SIS Ferel SCb=| 41
R SHTHDT Pri 8 AYICHD HASINIE0D! (structural weakness) T R |

(f) What are the objectives of National Population Policy 20007 6
ST SR 1T 2000 & ST S FAT S 2

GRS SR A |IM® 2000 S Sraeefer F H 9
/IR SRS el 2000 BT Ie2TE &b & 2
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(b)
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(d)
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(e)

®

GROUP-C / T@tot-at / qrr-r

Answer any four questions:
fopeel TR T8 &1 IR ST
Q- DIFf 207 Ted wies
T ARICT THhT ITN A

Mention three objectives of Niti Ayog.
T ST b AT Il T forRaw |

NS SN Foa Sy @12
T STRINTERT I ST Sl TR |

Mention sectoral composition of National Income of India.

TRA & ISERT 3T BT AT e B feIRay |
OIS STOR SR (T [ei (=74 |

TRADT RS RIDT &A1 TR (Sectoral composition of National Income) Seei@

R

How far Indian economy has become self reliant?

TR 3refeaelT 3y R & HehdT & 2
TS IS FOo! SIS 9
TRART 37T~ BT AR TR T ?

Mention three weaknesses of Public sector.

TRBRT &7 &b A BT BT oy |

TR CHCER foa &erel @74
Public sector BT A9 HHGIRIED Ieaid R |

Mention favourable effects of globalization.

AR & R TTal b forRy |
RERICTR A7 e wie |

Globalization T 3Pt THIGE Joeld TR |

Explain two features of planning in mixed economy like India.

IR ST AT Srefeda=eerr & ASTRT a1 HgRiT B Yifdhd HIf |
lRed e i wigifen (et “wfiRmsmia i @fEy @2
TR ST AT 7efad=MT (Mixed economy) ISHIEAT §3 fAIvdTess eamedr e |

X

3x4=12



